HHEE  |BOSEMEHHIRMAREAL MLEMHAS mﬁaﬁ'ﬁ"? S — M;;;i/z/ 2! FHE ;‘7&:;; ikkdas
FERAKE PEHHEEZEER |37 RREM wER 2
Bt | #8 K3 2fi 3fiL 44k 5% 61 7HL 8fi
@87 |enz21a| 200m B JEK 22.43 (-2.4)|EH EN 23.67 (-2.4)|FEE KFE 24.09 (-2.4)| KE HEX 24.27 (-2.4) |FrE BE 24.86 (-2.4)|JEE HEEA  25.31 (-2.4)[AKZ AKX 25.45 (-2.4) R 2% 26.12 (-2.4)
KRR GR| KA &% KARIL KA%R A IHS =R 3E
6208 | 400m g B 51.00| &l X&F 52.87 | {4KE 53.19|#N K 55.15(# k& 55.51 |$H# {64 56.49 (3E@ A 56.93 (A& WX 58.09
KRR GR| AKX {Rit KRR & KARIL 25 AHE AaE
6R218| 800m P 88 2:05.69 | KA 2:08.32(HE #REH 2:08.83| kK& H4E 2:09.57| &% ®BF 2:09.76(H#N KA 2:11.84|EH &% 2:11.90|% Kk —E 2:12.34
AKARL KARIL Kisk =R AER g5 AER Aax
en208 | 1500m G ] 4:17.30(&# 1 4:17.4) (EEB  #isH 4:18.25(3K HK 4:21.81 (154 BX 4:27.56 B RF 4:28.35 (a0l HEZE 4:28.45(=# EF 4:28.99
AKARL IHS AR & BIER AHE Kk AR Ritk
68218|3000m BE A 9:29.69 (K X q9:38.84 1A EEX 9:47.30 5% EiE 9:49.20(®iN  HEZE 9:50.21 (@i BZE 9:50.90|=# eE q9:52.93 |8 Hi= 9:59.47
KRR AER AHE & AER AER Rtk AHE
6r218| 1 10mH BFE kfn 15.33(-3.2)|# Lt EKE 15.88 (-3.2)|/hE RK 17.90(-3.2)(Ld I} 18.24 (-3.2) | k%P BEAER 18.46 (-3.2) |1 # 18.80 (-3.2)|{E@ 12X 19.25 (-3.2) |6 B&FK 19.60(-3.2)
& Kisk &N IHE Ktk Kisk Fait AARL
KAk 43.90 | KA {RiL 45.46 | K 46.16|RN 46.87|i1# 8 47.01 |8 47.03|AlE 47.22
Kl X E EE nE R& BN KA [ITL A L2 & B B
6A218|4xI00mR| B4 BEN GR[3tW = #LE KE L ] piiA:: I L L vE &
Wi gE AETPERE k- HE RE JIN:: PN L T #EN A WE 59
B FX wig K ARt HR e w3 Wk K = R E BE
TR # 1.65| @+ &% 1.60|% &R 1.55 EYR ART4 VB 1.55|hy 8= 1.45|## &8 1.45|2@ #tH 1.45
oR218| EEM A KARIL KARL Kitk g5 Risk it
HE RE 1.55 EHE ORK 1.45
Ktk Rtk
eR208 | AiEHK BN Bt we.22 (+2.5)| K4 R 6.01 (+1.6)|EEE B4  6.00 (+1.6)[H4T {4HE 5.99 (+1.1)[miE NE 5.85 (+1.3)[#8L E@# 5.50 (+1.8)|8km f&ot 5.44 (+0.7) [#% #E  w5.33 (+3.1)
g5 Kk el RKA%R AR RiER AARL Fai
eR2in| ZEEk W) HE  wi2.80 (+2.4) S 8 wi2.60 (+2.4)[ft £ KE wi2.59 (+2.4)| K3E KE wi2.26 (+5.4)(/ofE BE 12.04 (+1.7) 8B & wi12.03 (+3.1)| K+ B wil.97 (+2.9)| ¥k 3 wl1.73 (+3.9)
g5 KARIL Ktk L E: S AR KARIL Kk AHE
67208 | BIAR #E FK 9.84 |5 HhE 9.49|h@E &3} 9.29|L EX 9.0 |BER RE 8.8 | K& & 8.54 B WA 8.49 @A EX 8.46
it AER p-X: Kk AR Kidk 3% RARL
6A218| MR #E FK 28.86|RE & 27.35| Lk HE 26.62|E Hh% 26.20| K— 26.04 |3R# FEEE 25.75 |3\ BK 25.32 @@ A 24.84
it Kk el AR KA Elll g5 3%
6R208 | mHEEEH HE Ko 2507 |4vR & 19148 &%= 1682(®YV R #ARF41 VB= 1460 |E# RX 1425 | fitr {£48 1328|itE E&FK 1250 |uih B4 1233
& Aalx KARIL Kk Kk Kidk AARL Fri
6A208 | | 1O0mH 15.26 (-2.0) 17.17 (-2.0) 19.12 (-2.0) 18.82 (-2.0) 18.90 (-2.0) 19.15 (-1.8) 19.45 (-1.8) 21.04 (-1.8)
6A208 | FAMIZ 11.60 8.09 8.52 6.50 6.39 5.41 6.50 6.49
6A208 | E&EB 1.59 1.68 1.62 1.53 1.45 1.53 1.30 1.56
6RA208| 400m 53.76 1:00.17 1:00.90 1:02.81 1:01.60 1:04.16 1:02.64 1:05.34
s5487|6nz20a| 100m B FEA  11.20(-1.0)|#E ZHE  11.61 (-1.0)|#E ETE 11.69(-1.0)[=F R 11.81 (-1.0) | Em B 11.87 (-1.0)|dbls %= 11.88 (-1.0) | REF B4 11.93 (-1.0) [ %8k 3* 11.96 (-1.0)
KRR GR-GR| K& BER £ E3l] KARIL 3nE AHE
256487 enzom| 100om|TF F 12.12 (-1.2)[AK HM  12.23(-1.2)|&% B 12.28 (-1.2)[&#& #iX 12.30 (-1.2) (WO #AA 1243 (-1.2)| W@ EA  12.56 (-1.2)[kE ¥ 12.70 (-1.2)|&EE HE 12.75(-1.2)
Rtk RARIL RARIL = KA Alx Tt Rtk
#4832 |6nz1a| 100m EA HK  13.04 (-2.8)|FE B3 13.36 (-2.8)|BWL #Eth 13.40 (-2.8)|E HE 13.44 (-2.8) |#iN BE 13.55 (-2.8) (13 EA¥E  13.65 (-2.8) |/miE 1— 13.67 (-2.8) (&) #H&F  13.76 (-2.8)
A% Aalx RARIL RKA%R % k] Aalx Rtk
67208 | 1500m & #A 4:54.79 (5%  #IK 5:06.82 |41k #X 5:09.89 |84 EA 5:10.99 |24 MPB@ 5:11.01 |3kt REE 5:11.12|AL BI#E 5:12.44 |51 BX 5:12.56
p-X:d IHSE KA Frit RA%R AfER nE it
KARIL 49.12|8% 49.84|RAlE 50.25| &) 50.40 | KA 50.42 K&k 50.78 |F <t 51.02|=8R 52.81
s B PR BRE Ae HHE A EK K # g % ol bul:: I
BFEBF|6R208 | 4xI00mR(E) #Eth EAR K ik — #H# HE BB HE sl A 7=y IR k& B R4
&R & N EE FRE &3} mA LT A E BE HEE RE R BH
AR HHA BAR AR EX B 7R B¥E ZAn R EE AE it| HE B8 Mk




BHAE  |BOSEMETPERMAKEAL HLEMEAS mﬁaﬁ'ﬁ"? S — u”z;;i/z/z' FHE ;‘7&:;; FREEH
FHERAKE PEHHEEZEER |37 BREE B B
B+ E1E] [ 2fi 3fi 44 54 6fi THt 8
s#im%F |6nz21a| 200m L BE 25.88 (-2.0) |#R3E FTE 26.07 (-2.0)|BF HHY 26.98 (-2.0)|{PEk Hi 27.80 (-2.0)|®™E &N 28.05 (-2.0)|1fA BHBE 29.09 (-2.0) [/ & 29.21 (-2.0)|Fx #|E 29.45 (-2.0)
Al RAAR AE AAR AA4RIL E3l] Al A&
¢nz1a| 800m HH St 2:17.33| k& %A 2:28.15|8% BH 2:30.12|3R%k HEF 2:33.1 | |88 & 2:33.39|38 ~F 2:33.75| 2@ B& 2:34.90 |/ Fasx 2:37.83
IHE AafE RIER ARHR 0E Fai AAR it
¢A20a| 1500m HH St 4:46.26 (158 # 5:05.34| k& %A 5:09.35|&4% & 5:09.39 | 2@ ®BA 5:19.02|38 &% 5:20.25|3kRAk HE 5:21.47|#%®@ R 5:26.98
AHE 0E RAE RIER AR FRit AR AR&R
sn21a| 100mH 5 EE  15.28 (-2.4)[ KB F&  15.48 (-2.4)|hA MRR  16.14 (-2.4)| L & 16.20 (-2.4) |8 %7 16.62 (-2.4)[Wih  #ETE 17.01 (-2.4) |ZF 29 17.34 (-2.4) (KB FH 18.72 (-2.4)
Fai 0E RAR Tt i RIER Frit Rith
A 50.26 KA} 50.37 | #ith 51.45( KRRt 52.95iI# 5 53.29(=R 54.48 | R 54.68 |25 54.78
M TR oo Eesk £ XE RYE % BE HE FHE KE ik 3H% A EE
6A218|4xI00mR| @  HHY GR RE BF wit ¥<5 BmE &R e HIE 2R 9W® kR S KiE B
RE& ond Pk H$ o1 A Mt %R L ER REB #HB H# BE x| A
Lt BHA L [T 3 "R BEg aBH £E B g% BH H#F s A7
P - aH £E |.55(@% @#HE 1.48|H# B%&E 1.40|4%8 #% 1.40| %R wF 1.35(HL #@F 1.35|4%8k 2H% 1.35|8&K ZEA 1.35
IHES g Fai AAHRIE RIER RARIE E3| A
6nz20m| HiEHK K¥E BE  4.97 (+1.2)3XF 2%  4.80 (+0.6)|EE FHE  4.77 (+1.6) | sk 4.63 (+1.8)(% &R 4.51 (+1.8) [tk 2H% 4.49 (+1.0)|45E BEX 4.38 (+0.4) (TR EZ 4.34 (+0.6)
g Tt =13 AKAR :TE E3l] Kitk E|
6Rz08 | AL A B 13.06|&#/ fEE 10.84 (@it ¥<5 10.41 |E® %7 9.96|&& “E q9.80|AEk iE q.03|#E ExX 8.97|&¥ ¥ 8.27
g5 AER Fai p:TE IHE RARIE =R Faih
on2ia| AR T WEE 27.1450 #F 24.6| (4B #n 23.65|fRiE HE%E 23.37|=8 &k 23.24|@m$ £W 23.1 | [EEH# TR 21.70|Fm KT 19.86
AER Kk AE = Al AafE Kk Faih
N — BH £E 2662|£% *E 2295|%8 &M 2150(&% oE 1810(M ©xap 1504 | A FAR 1351 (A3 1336(&2 ®k 1325
IHES it g5 IHE Fit A 3t RARIL
6A208 | 100mH 15.72 (-2.3) 15.42 (-2.3) 16.65 (-2.3) 18.05 (-2.3) 18.78 (-2.5) 20.84 (-2.5) 20.19 (-2.5) 18.53 (-2.3)
6R208 | E&HBK 1.62 1.35 1.35 1.20 1.30 1.30 1.30 1.15
6A208 | BAAR 9.36 7.19 8.72 q9.74 7.04 7.41 7.17 6.38
6A208| 200m 27.56 (-2.0) 27.13 (-2.0) 28.30 (-2.0) 29.70 (-2.0) 32.09 (-2.0) 32.11 (-1.4) 32.99 (-2.0) 32.37 (-1.4)
s BE  12.32(-0.6)|4RE EBE 12.71 (-0.6)| k8B FER 13.10 (-0.6) | R 13.28 (-0.6) | RIF &N 13.40 (-0.6) |#it ¥< 5 13.42 (-0.6)|EE T 13.63 (-0.6)|AB DODH 13.77 (-0.6)
34 4F|6R208| 100m
Aafx P .X E KRR AR Fait = Aafx
Y 12.89 (-0.9)[@Es  HHY 13.14 (-0.9) | H%  13.33(-0.9)[ Lg% 13.61 (-0.9)[#K #F 13.94 (-0.9)[#3# o£%&  13.95 (-0.9) (W £3 14.19 (-0.9) %% ®EE 14.31 (-0.9)
24 4F|6A208| 100m
28 GR|&{x RA%R Feith KRR Faits IHE Faits
| 5447 6n218| 100m BiE EH 14.88(-3.1)|BH A 14.97(-3.1)|HRE EF 15.10 (-3.1)|RE BWF 15.21 (-3.1)| kR * 15.25 (-3.1)| 945 #&F  15.36 (-3.1)|8TFT ©®35 15.37 (-3.1)|{RE@ 8% 15.61 (-3.1)
it PV .X AR &R AAR AAHRIE Tt ®I RARIL
snz1a| 800m RE FREH 2:49.24 |81 BE 2:51.28| )% ¥t 2:51.58|AE 57 2:54.36 |M% EE 2:54.47 [k KA 2:55.27 | 7t 2:56.25| &% %£#& 2:57.91
Aafx Kk AR &R KRR IHS RAR &N E3]
RA &R 55.47|ffE 55.6 | [EF =t 55.97 (&5 56.51 |8A% 57.08|=R 57.80 | Kk 58.06
e 27 R Bk X BE TH AR % KI B=% WE EEX
&2 F % F( 6A208 | 4xI00mR( B4t 7y B8 RES g #E wiE & BB £ B# XA 2R TR
fm it KB HE BiE EH B8 W KE % BY #eE #BA R
AR B g 1B wmH R #E ;L #F R # 1%A
K3 21k 3% 41 5 61 T 8fi
EEES AXRIL 119.54 Ki 105.54 AR 884 & 645 RIER 635 A 555 IHE 4108 EX 354
FRAR LFRE AR E 1034 Aalx 90k Tt 894 IHE 514 g 475 % 344 KARI 344 RAiER 334
Bure AR E 1914 RAfRIL 153.54 aE 1455 Kk 126.54 Frit 1204 AER 964 IHE 924 25 824

w (wind assist) : EERSE




